Comprehension-1
Passage

Directions (Qs. 1 to 10): Read the following passage carefully and answer the questions given below it. Certain words/phrases are printed in italics to help you locate them while answering some of the questions.
Sethu was hesitating. He did not want to go out just then. The work in the office had piled on so much that he was not able to get away for long time. He was trying to clear up as much as possible that Sunday. He had received a letter from his sister which said that he should visit his parents that weekend. It was pleasant and sunny outside and the 200 mile drive down to where his parents lived would be pleasant. His car was also running smoothly. During this weather there is no danger on the highway. No wet road slip on, no hanging power lines Neither would the crowded highway suddenly stop when a huge tree would fall
across. He could have very easily made it, if his work had not kept
him back.

A telephone call came from his sister in the afternoon. He then decided that he should move immediately. Packing up his files he called his peon and told him which files should be given where. He wrote over a note for his junior explaining what had to be done. He dropped in his quarters to pick up his clothes and started his drive down. About 20 miles down the highway a long line of vehicles was standing without moving. An accident had happened ahead and the vehicles were lying across. It would be at least 5 to 7 hours before the jam cleared. He came back to the office and rang up his sister. She told him not to worry and to come the next day. She would go over to their parent's house and stay there that day.

1. Why was he needed at his parents residence?
    (a) His parents were not well
    (b) There had been an accident there
    (c) His sister wanted him there
    (d) He had not visited his parents for a long time
    (e) Reason not given in the passage

2. From the passage, which of the following is true regarding the
    nature of the road through which Sethu had to go?
   (a) It is a very dangerous road
   (b) It is not fit for cars
   (c) It is dangerous during bad weather
   (d) It is not very busy road
   (e) It is fit only for heavy trucks

3. Why did Sethu write a letter for his junior?
    (a) The junior was on leave that day
    (b) Sethu did not want to talk to him
    (c) It was weekend and no one was available
    (d) Sethu liked to give only written orders
    (e) None of these

4. Which of the following is NOT TRUE according to the passage?
    (a) Sethu was not finding the time to go to his parents
    (b) Sethu left for home as soon as he got the letter from his
         sister
    (c) Sethu had to pick up some luggage before leaving
    (d) Sethu's car was in good condition
    (e) Sethu traveled around 20 miles that day

5. Which of the following is the reason why Sethu was unwilling to
    visit his parents?
    (a) His car was in a bad condition
    (b) The road was slippery
    (c) He did not think it was urgent
    (d) The weather was not fine that day
    (e) None of these

6. Which of the following is the reason why Sethu did not reach his
    parent's place?
    (a) He was busy working in the office
    (b) A tree had fallen across the road
    (c) He did not feel like going there
    (d) His sister was to go there
    (e) None of these

7. From what has been described in the passage, which of the
    following is the most likely description of Sethu?
    (a) He is owner of that office
    (b) He is an electrical engineer
    (c) He is a clerk in he office
    (d) He is not connected with that office
    (e) He is a junior level officer

8. Which of the following has the same meaning as the phrase
    "dropped in" as it has been used in the passage?
    (a) went (b) fell (c) opened (d) stayed (e) jumped

9. Which of the following is true according to the passage?
    (a) Driving can be dangerous during all seasons
    (b) Sethu's sister does not live with their parents
    (c) Sunny weather increases chances of accidents
    (d) Sethu could complete all that he wanted to do
    (e) Sethu does not consider his work very important

10. Which of the following has not been mentioned in the passage
     as one of the dangers on the road?
     (a) Speedy driving
     (b) Trees falling across the road
     (c) Broken electric wires
     (d) Slippery roads
     (e) Traffic jams
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